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Reflections

A reflection fli'ps  a figure.

The size of the image __i$ P féfe-rvé”l- .

The orientation is _net pre serve

The symbolis _r |
X-axis y-axis y=Xx y = -X

(. y) = (x,-y) (X, y) = (-*,v) x.y)—>(y,* ) (x,y) = (~y,%)
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When reflecting over a horizontal or vertical line such as x = 3 or y = - 6, you must count the boxes! ¢
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Rotations ¢

A rotation _Terns g figure.

The size of the image 1s pre Scrveol

The orientation is presecve J
The symbolis _ R .
90° 180° 270°
(x.y) = (-v,*) (x,y) => (=%-y) (x,¥) = (y,-»)

- . -]
A rotation of -90° is clockwise and equal to a rotation of _Z7°
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Translations

The size of the image I's presss ved

The orientationis __preserv ed

The symbolis _ V.
(x,y) = (x+a,y+b)
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A dilation makes a figure lerger op Smaller ]

The size of the image __i's not »p reservwf
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A translation _5 ! pdes a figure. 2
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The orientation is preserve o z
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The symbolis _D |
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Unit 4 Review Sheet

Important Terms to recall/understand:

* Point Symmetry

* Line Symmetry

* Rotational Symmetry
* Line of Symmetry

* Transformation

* Isometric (Direct/Opposite)
* Reflection

* Rotation

* Center of Rotation

* Translation

¢ Dilation

* Orientation

* Preserved

1. Do the following figures have line, point, and/or rotational symmetry?

Line? (\_’)
Point? Y
Rotational? Y

Line? ¥
Point? Y
Rotational? Y

Line? @
Point? ¥
Rotational? Y

Line?
Point?
Rotational?

Line?
Point?
Rotational?

Line?
Point?
Rotational?
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2 Construct'rhe line of reflection below:
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~ Construct the center of rotation below:
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4. Find the image of (6, %) under the given transformation. (the use of the graph is optional)
" [ ]

a) Reflection in the line y=4 (6,”)) l i < g e e
_____ _Jl. |
b) Reflection in the line x=2 ('2! 2) -y L :I_ e ]
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5. Name the translation taking place for each of the below illustrations: Vwzl

Y Y
F'S &
"WB E F
2
. 1
c G
1 1 H
‘ 3 -2 -1-1 12 3 ¢ ’)( ‘ 3 2 .11 1 2 3 P x
2 B F 2
3 3]
G
v . H L 2
&
o7 LERn Cen

6. Name a rotation equivalent to Ryy _~270°

. - o
7. Name a rotation equivalent to Rigy _—1 ¥©O

8. Name a rotation equivalent to Ry _~90

9. A translation maps (7,2) onto (4,-2). What is the image of (10,4) under the same translation?

10. A translation maps (-6, -4) onto (-10, -13). What is the image of (9,8) under the same translation?

Tl-4-8) « [(5,~1) ]



11. How many degrees should you rotate the below regular octagon clockwise to map A onto F?
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12. Use the figure below to answer the following questions:

Y

V'S
a. Which point is a reflection of point A over

. B J e D the x-axis? __ &

£ b. Which point is a reflection of point A over

1 .
the y-axis? _D

A 324 123 X
ol c. Which point is a reflection of point A over
g sl F ‘G the line y=x? H
H.

13. What is the image of A (3,7) under the composite 7y_axis 0 T(z.—a)
Al (6,3
14. What is the image of B (-2,-8) under the composite 7y _gyis 0 R 180
B" ( 2:5')
B" (-2,%)
15. What is the image of C (4,-5) under the composite 7y=4 0 Ty=_y

c! €5,
¢ (3,-4)
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16. AABC has vertices A(0, —1), B(3, 4), and
C(3, 1). Rotate AABC 180° about the origin
and then reflect it across the x-axis.

At Lo, 1)
B! (3,4
c! L’3!‘”
i A" Co -1
B“ (,3! bﬂ
"; Y (-8 )
| 1 i) '

17. The vertices of AABC are A(3, 1), B(1, 5), and C(5, 3). Graph the image of AABC after a composition of
the transformations in the order they are listed.

Translation: (x, ) = (x + 3, y-5)

Translation: (x, v) — 6, v+ 1
Reflection: in y = -2 (x, y) = (x= 6,3+ 1)

Rotation: 90° about the origin
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C v (-‘l} -1)



